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_ (i) G T AT & | 59 J9 97 § F7 27 7 & | F97 97 9i @S] 7 favnfara & |

(i) @UB-37 H Fo7-G&IT -5 T Y% J97 Th 37% BT & | Y9 J97 T I 20 151 G
S71er 78T 817 =8 |

(iii) @US-T H FoT-G&IT 6-10 7% J % F97 & 37! H7 8 | FeI% 97 7T I 40 31551 G
3111 787 &I FeT |

(iv) @S-G F Fo7-T&IT 11-16 7% 9% J57 TR 3] &1 3 | Ie9% 97 &7 I 100
¥1e5] & 371 787 811 e |

(v) @IS-§H JHT-TET17 @21 7% Jd% J97 Gid 371 &7 & | Id% J97 &7 I 150
¥1e5] & 371e% 787 &1 e |

(vi) @US-§ § -G 21 FIHIET W ITERT 97 8 | 39T I 39+ ITH-GIeier &
IeTfge |

(vii) @IS § FoT-GE&IT 22 G 27 T F4P J97 &: 3] F1 & | Y9% 97 BT I 150

sG] @ 37fere 787 51T T |

General Instructions :

| 59/1/2

(i)

(ii)

(iii)

(iv)

v)

(vi)

(vii)

All questions are compulsory. This questions paper has 27 questions in all. There
are five sections in question paper.

Section A contains Questions number 1 — 5 of one mark each. The answers to these
questions should not exceed 20 words each.

Section B contains Questions number 6 — 10 of two marks each. The answers to
these questions should not exceed 40 words each.

Section C contains Questions number 11 — 16 of four marks each. The answers to
these questions should not exceed 100 words each.

Section D contains Questions number 17 — 21 of five marks each. The answers to

these questions should not exceed 150 words each.

In Section D Question number 21 is a map-based question. Write its answer in your

answer- book.

Section E contains Questions number 22 — 27 of six marks each. The answers to

these questions should not exceed 150 words each.
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: 59/1/2

T Ug-31
SECTION - A
TreneTE! o fRrehetl § BH) el Hifasd Jomet § 7 91T I 97 foRet Tk Alshdizeh

Hed I IR HIWT |
GRE)
3fid Ig Tt | STC MU “ufgal} TeEeR’ & @ SR R 7

Highlight any one democratic value which the bureaucratic and authoritarian Soviet
System lacked.

OR
What is meant by ‘Western Alliance’ formed during the Cold War period ?

I H T % 3NMUR T AT o G ! AT SgU o 981 H 15 Teh U b
s |

Justify the reorganization of states in India on language basis by giving one suitable
argument.

ST TS B o fohefl Teh A1 ol ISR AT |

YT
TURYTEh GRETT o IUTT o &9 | ‘376 FT=07" o HEwd ol IATR HIT |
Highlight any one benefit of having an International Organization.

OR

Explain the importance of ‘Arms Control’ as a measure of traditional security.

frfafiga & @ i a1 Ho 0% W IS SATHAT & Tl T Terd § 7
(a) 9 SATSHAT H 40 T ATk 317 <31 A U |

(b) SR USg T + 3o T IATHHT i <h STAM < off |

(c) Uk WX STTSHATT $UTeh ! TG TaR o TR S & UhT T |
(d) 38 Ig T 7Rt & 3000 A 3feres Afe AR T |

Which one of the following statements related to the Iraq invasion by the US is
incorrect ?

(a) More than forty other countries were involved in this invasion.

(b) The UN had given consent to invade Iraq.

(c) The invasion was to prevent Iraq from developing weapons of mass destruction.
(d) The US lost over 3000 military personnel in this war.
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5. 1996 H S+ B A< shi AR aAT 1989 H &t TS A<l i TR § forehl Teh a|mar
f 1 = Hifsy | 1

Identify any one similarity between the United Front Government of 1996 and the

National Front Government of 1989.

Qug-§
SECTION - B

6. i s 3 e 5 e € o 1 e i 2x1-2

Mention any two reasons for the disintegration of the Soviet Union.

7. A e e e B & et o sl S s | Ax V=2
Ri&:[‘A’ W‘B’
O faue stceH (a) WERIE

(D) e S=3 A e (b) IEE
(II)  <fera 9o 3T (c) 3TyYey
V)  aret faeft sngem (d) ToRM@

Match the following in ‘Column A’ with those in ‘Column B’ in a meaningful way.
Column ‘A’ Column ‘B’
(D) Chipko Movement (a) Maharashtra
(I) Narmada Bachao Aandolan (b)  Uttarakhand
(IIT)  Dalit Panthers Movement (c)  Andhra Pradesh

(IV) Anti-Arrack Movement (d)  Gujarat
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8. TR S TR 3 s e g 3 fore 1 & 3 g | 2x1=2
- 3T

1962 % YRA-<11 Jg 7 IR e urdl =i Ha yerfaa feam 2 2

Suggest any two measures to improve relations between India and Pakistan.
OR

How did the Sino — Indian conflict of 1962 affect the Communist Party of India ?

[\°]

9 3.7, TR ARI, S URER o A § ST S &, g0 iaaied 7 w1 fageiyor iy |

Analyse the thesis propounded by E.V. Ramaswami Naicker popularly known as

Periyar.

10. S, 1975 H =1Yd TSERT STTATAhIE o THTE T HedTeh hitaT | 2
" CEe)
AT TSI I G- Shl YehT o STTehei ShifTT |

Evaluate the impact of national emergency declared in June, 1975.
OR

Assess the role played by ‘defections’ on Indian politics.

Qis-H9

SECTION -C

11. 9 <t T Hfifa o1 fergeryor Hifv | 4
; JAYAT
WA 371 = & o= ged o fergl <1 hron o1 forgetsor hifse | 2x2=4

Analyse the Nuclear policy of India.
OR

Analyse any two causes of conflict between India and China.
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Download from www.MsEducationTv.com



12.  Imieh! it o UK i foheal of STenati ohl ST hif | 2x2=4
HYET
TTeREdT™ | SAlehdd o TR T 99 9 o foTu ST forgl & shen! 1 samean hifau |

Explain any two constraints on the American hegemony.

OR
Explain any two factors that have contributed to Pakistan’s failure in building a stable
democracy.
13, o Svefteror 3 mmefent gry fan u Rt 3 @t % e AR | 2x2=4

Explain any two arguments given by the advocates of economic globalization.

14. 1959 H werfia Taaa 91t 6t foameam i fehgl =) fereivanati &1 qui Hifsr | 4x1=4

Describe any four features of the ideology followed by Swatantra Party founded in
1959.

s, e o e g e AR 0w 3R s wewit 3 R s B an
R e e ax1-4

3T
B e TR 1 @R ¥ e = A A Ao iR |

Describe any four criteria that have been proposed in recent years for new permanent

and non-permanent members of the U.N. Security Council.
OR

Describe any four new sources of threats to non-traditional security.
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L 16.

17, Fey o o e e v B i A o s 3 e,

: 59/1/2

“Foreh ol & s i B 7 Ryt v <t wefea S & Sfeq e Y syfirent 1 goaiR
HIT |

1+3=4

What is meant by ‘Privy Purse’ ? Evaluate the role played by Indira Gandhi in the

abolition of privy purses.

(1)
(i)

Qug-g
SECTION - D

T 1A § QAT 71 4 A7 97 <A & Tafra 2 7
g oh TR T = ehl Wferd Hl JTeheid HITT |

(iii) “< Tarza 1 IFTel TR &1 TehdT & |7 39 e i &1 doh <ol AT 3UsU |

1+2+2=5

Study the cartoon given above carefully and answer the following questions :

(1)
(i)
(iii)

Which part of this cartoon is related to China ?

Assess the strength of China on the basis of the cartoon.

“China may be the next superpower in the world.” Justify the statement with

two arguments.

Download from www.MsEducationTv.com
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e ; Frfefad woa sa gfeestiea whemff < fore s d@n 17 F = R

17.1 31mueh foram & weh 3mfefes wfery & &9 H < o1 o s 3§ 7

17.2 S TSI LT ! HERITad S AT foheal & [EATa=1 1 STTehaid hITT |

17.3 “<i forwar <1 SmTeft werwIfer &1 wehal 2 |7 g <) dh oot I HU I =R
38T | 1+2+2=5

Note : The following questions are for the Visually Impaired Candidates only in
lieu of Q. No. 17 :

17.1 In your opinion, where does China stand as an economic power ?

17.2 Assess any two conditions which make the United States of America, a super-
power.

17.3 “China may be the next superpower in the world.” Justify the statement with
two arguments.

18, T=feifaa st = e @ ufew 3tk Fie for@ e o s fafae

i forehTa & S TH-TM Higed d &, wRa = fohet 1 TET 31O L S & Aiee
%S Th F1a1 bl o FoTan 71 3R 379 <1 ¥ 3= el ot &9 § @r] fohan | et R
TR refeae i ‘frfya steerewr SR |
(i) Terepm = g Aisel & I fofE |
(i) WA A g1 wigel ° | fopet weh i oft qofaen wher =it &l foham 7 s o ferg

T | Y Teh &7 R ¢INIT |
(iti) R 3 Tirfsr Srefereen 3 UHl 31 forIwaati sl ISR IR 1 IR Aisdl |
NG 2 | 1+2+2=5
AU

fr=faftga staa 1 e @ ufew 3 = fod et & s fafige

IR & THAT UHT S 81 8 S e U1l o TH o QR 8 TS 81 | IR g9 G-l
SThT Yool T TSR GISTY 1 85 Weh UTET o U o agd-H 3¢l ool | S8tgTet, aeh!
Hoohi B Ush UTET o TYed 3 qRA § Teh UTel o Y o o< Teh a1 A} Beb & | STehI
Hoehi H Teh U1 ol SR h1 SHITd T HIEH g7 | S <N HEeH I, ST 3R
T o wfqam § fih w8 adl ol w1 o wrEe B SEfd @ TS R |
(i) Tl o UTETd, YA o TSiIfdeh qeal X fohd TsHITdeh a1 o1 T 1 T 3R
hd db ¢
(i) WA T U Coftd TYcd, = o Ush gofld 94 | fohd wepR fiy=1 o 2
(iii) Tk gelta ITE ht foheal qf hitrI sl IR T | 1+2+2=5
Read the passage given below carefully and answer the questions that follow :
India did not follow any of the two known paths to development .... Elements from
both these models were taken and mixed together in India. That is why Indian
economy was described as ‘mixed economy’.
(i) Name the two models / paths to development.
(i)  Why was either of the two models not fully accepted by India ? Give at least
one major reason for each.
(ii1)) Highlight any two features of India’s mixed economy based on the above said
two models.
OR
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Read the following passage and answer the questions given below :

India is not the only country to have experienced the dominance of one party. If we
look around the world, we find many other examples of one-party dominance. But
there is a crucial difference between these and the Indian experience. In the rest of the
cases the dominance of one party was ensured by compromising democracy. In some
countries like China, Cuba and Syria the constitution permits only a single party to
rule the country.

(i)  Which political party dominated the political scene of India after independence
and how long ?

(1) How did the one-party dominance in India differ from that of China ?
(i11)) Highlight any two drawbacks of a single party rule.

|19, Pr=fafiad s @) e & afe it srenfeiad ge % 3 Al

: Tl g ATE T ot STE 7 b Wia 7 e - T STde | wte 1 ¢En Wi ot
TG A H o HHEI H Hord W@ | 3 J§ & GH WRA A AR 31 & 3R
ARSI TIISAT bl Hfshd ST T@H Sl hITRTST 6t S TiehT 31an |ifesd g9 % ©@H
TE IS U | T8 1 T 3 TR Hgant UG o Ueh ol TSg el oh HW e fawamd
ST ST 3 TG Bl @eH hid H | T, T 3Heh! Thg Gleil hid H &l TehRIcTeh YHhI
fmd |
() 3fid g 1 319 wse I |
(i) 39 T 9 @ 3d Jg o Ui W <t | sl T Hif |
(iii) WA <ht e -Taer Hifa 6 fopeel g fereiwanati =61 IR HifT | 1+2+42=5

YAl
freaferfea sreawor o1 e @ ufew 3 fi=r for gt & 3@ fofee
T 3 TTrETE) 8 gob afl Ol o 1Y 37 TeY HEM fohu 8 wifehd I o Tey

T & TY T SIS T 8 | 9 b1 e fifer 1 weh Taaqul qge] YRd 1 &4 % A1
TEY § | WRA-FF Hedl 1 3@ e fagamg 3 o fadt =1 sfag@ ? | wa-wa
o MY TEY 37 M T STdT1 ShT 30T | O WA & | YR f&=dt fheri < Arrent &
TSI § Tieht AT T aeh &4 3R 8 Fifoad He o STehl TSl § BX-8 W
ST 8 | 379 39 & fgedt fobert 1fi SioTd g Tehd § 3R YR T8l o ST %1 Teh 3 7 |
(i) T am=rETel ot | R I g 7
(i) WRA 3T &4 & i Tel Trae & foru ITER IS g1 HReh wne HIT |
(iii) T o &6 o T1 A ford TR TR bt ferer <fifer b1 weh weaqel weel & 7

1+2+2=5
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Read the passage given below carefully and answer the question that follow :
It is important to remember that India chose to involve other members of the non-
aligned group in this mission of reducing tension. During the Cold War, India
repeatedly tried to activate those regional and international organizations, which were
not a part of alliances led by the US and the USSR. Nehru reposed great faith in ‘a
genuine commonwealth of free and co-operating nations’ that would play a positive
role in softening, if not ending, the Cold War’.
(i)  Explain the meaning of Cold War.
(i1)) Explain India’s response to then ongoing Cold War.
(i11)) Highlight any two features of India’s policy of Non-alignment.
OR
Read the following passage and answer the following questions :
India has maintained good relations with all the post-communist countries. But the
strongest relations are still those between Russia and India. India’s relations with
Russia are an important aspect of India’s foreign policy. Indo-Russian relations are
embedded in a history of trust and common interests and are matched by popular
perceptions. Indian heroes from Raj Kapoor to Amitabh Bachchan are household
names in Russia and many post-Soviet countries. One can hear Hindi film songs all
over the region, and India is part of the popular memory.
(i)  What is meant by the post-communist countries ?
(i) Explain any two factors responsible for strong relations between India and
Russia.
(iii) How are India’s relations with Russia an important aspect of India’s foreign
policy ?

20, Trafafed s s e @ ufe st srenfeiaa ye o s i

TG 1 F & qeft WhR A & Toh seeht Wneifies wied safaat shi wrar # |
TEE, 39 91d W HAYE & foh Sih-dleh U8 $i 4 @k & o8 o bl =™ =1
TFET | T T GREAT 1 Fehivt 31 o aTel Hh T SR SN bl fedes @adl It
TI-TUE 8 S WA R |
(i)  “HeEan <hl G <hi YT Teie i & e ol gean g ?
(i) HTET <l LT o =AYk 7 H, 3719 1 M AT ATadl 7 TS HIAT |
(i) R IR Gl 6t Tg=H e S8 o l a=m=T =R | 1+2+2=5
Read the passage given below carefully and answer the questions that follow :

All proponents of human security agree that its primary goal is the protection

of individuals. However, there are differences about precisely what threats

individuals should be protected from. Proponents of the ‘narrow’ concept of human

security focus on violent threats to individuals.

(1)  Which type of security is the main concern of ‘human security’ ?

(i) What would you like to include under the ‘broad’ concept of human security ?
Explain.

(ii1) Identify any four threats from which individuals should be protected.

L 59/1/2 10 :‘E'pg.g
EL!



L2l

: 59/1/2

";

|
g 0 100 30 S0km
bt —]

L it L 1
72° 7e° g0° 84°

L] .
ag° 92°

9;9

_35'

=329

269

247

209

181

Id & feu v reHifas -t 8 afe o=t @A), B), (©), (D) 72 (B) g1
Tt T 2 | A @ T TR % YR WS TSAT hi Te=H hifeg 3T 3o -
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3R, <=l € T3 qTfeTeh! o &9 | faRa |

TN h T8 AR 6l v G
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(i)
(ii)
(iii)
(iv)
)

(i) 9% TSI F&l 2002 % M A0 TIH T f&oes geat afed g3 of |

(i) =8 Usa ¥ gt g™ et A o |

(iil) =8 T=g foraeht faem g o v o waifees HE 2 |

(iv) o8 =g fSed Arere &1 aEy 2 |

(v) 98 UST TEeT faer 1975 |, WA o 22 o TsT < €9 H g3l |

11

5x1=5
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In the political outline map of India given above, five states have been marked as
@, , @, @ and @ Identify these states on the basis of information given below

and write their correct names in your answer book along with the respective serial
number of the information used and the concerned alphabet in the map as per the

following format.

Sr. No. of the Concerned alphabet in the Name of the State

information used Map

(1)
(i)
(iif)
(iv)
(v)

(1)  The state where a violent incident took place at Godhara in 2002.
(i1)) The state which was earlier known as Madras.

(ii1)) The state which has the maximum number of seats in India in its Legislative

Assembly.
(iv) The state to which Laldenga belonged.

(v) The state which integrated with India in 1975 as 22" State of India.

e+ Frfian e S e TR 3 fore s 21 35 e

21.1 39 T w1 T forfau &t 2002 H e F19e T W o geat afed g3 of |

21.2 Tor" T 1 Y8 HSTH HaT STTdT AT 7

21.3 S EUST 1975 H 227 TsA o & H 9 & JST 4T ?

| 21.4 TS e Te @ i o ?

§21.5 39 T 1 9 feifgu Stgt bt faam gy § 9yra | goifees @i 8 | 5x1=5
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Note : The following questions are for the Visually Impaired Candidates only in lieu of
i Q. No. 21.

21.1 Name the state where a violent incident took place in 2002 at Godhara.
21.2 Which state was earlier known as Madras ?

21.3 Which state integrated with India in 1975 as the 22" state ?

21.4 To which state did Laldenga belong ?

21.5 Name the state which has maximum number of seats in India in its Legislative

Assembly.
g
SECTION - E
20, i s 1 o et v ot i 6x1-6
| e
R < TS Hehe 1 Hfered | i Hifre | 6

Describe any six features of the erstwhile Soviet System.
OR
Describe briefly the Cuban Missile Crisis.

23. rerew o fmfor % fere Iaterht uftfeurfaa St =men hifs | sgeefi yomet w snaTfa

it TeTeh Tehda hl TATIAT H SICTTCY S TWhel gt ? 3+3=6
AYET
T STTTTEAT o IeU o Fehedil ©: RN ol Tee HIT | 6x1=6

Explain the circumstances that led to the creation of Bangladesh. How did
Bangladesh succeed in establishing representative democracy based on multiparty
system ?

OR

: Explain any six reasons for the rise of the Chinese economy.
L 59/172 13 %ﬂ% P.T.O.
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24. 1989 § WA H S STl TS shl TR o =gl I oITHI 1 AT BT | 3x2=6
YT
T AT HYHR H A S T8 o Teheal d1 T SHRUT 1 forwerso] SHIfT |
Assess any three benefits of the coalition governments in India since 1989.

OR

Analyse any three main causes of unrest in Jammu and Kashmir.

25 1969 # ™ I I fawrsH 1 3T o I areft fopedl i Teweul weati &1 aviH
| T | 3x2=6
e
1975 H SATATAeRTe ST fohT ST 6 foTu Saterft fereal 7 Trenati o1 avia hifaw |

Describe any three important events that led to the split in the Congress Party in 1969.
OR

Describe any three events that led to the imposition of emergency in 1975.

26 1947 T g WRA o Ta¥TSH o fehe| ©: TIOTHT 3h1 ST SHITT | 6x1=6
LT % UTET, MHA o gl i ITH A H HEE el b T b gl o geT
RO I AR HIT | 3x2=6

Explain any six consequences of the partition of India in 1947.
OR

Highlight any three major reasons for the dominance of Congress Party in the first

three general elections after independence.

59112 14 T
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|27 arferor % U@ wee R % v 1 fergetwor i Rt ==t st s wd g
LB

AT
ITTRTUT ok HIER (e THTET T TR hITT |
Analyse India’s stand on environmental issues discussed at the international level.

OR

Evaluate the cultural consequences of globalization.

: 59/1/2 15 L%E.E
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